

STRESS ... CONTD.

STATE OF STRESS AT A POINT

Balance of Isnear momentum $\frac{D}{Dt} \int \vec{y} \, dV = \int \vec{y} \, \vec{b} \, dV + \int \vec{T} \, dS$ $\frac{D}{Dt} \int g \vec{v} \, dv = \int \frac{\partial (g \vec{v})}{\partial t} \, dv + \int (g \vec{v}) \vec{v} \cdot \hat{n} \, ds$ $V \quad e^{TT} \quad V$ $= \int \frac{\partial (g \vec{v})}{\partial t} + \nabla \cdot d \left((g \vec{v}) \otimes \vec{v} \right) \, dv$

$$\frac{D}{Dt} \int (t^{\vec{v}}) dV = \int \underbrace{\frac{\partial}{\partial t}}_{\vec{v}} (t^{\vec{v}}) + \nabla \cdot (t^{\vec{v}}) \otimes \vec{v} \end{bmatrix} dV$$

$$= \int \underbrace{\left\{ \frac{\partial \vec{v}}{\partial t} + \frac{\partial f}{\partial t} \vec{v} + \left\{ \nabla \cdot (t^{\vec{v}}) \right\} \vec{v} + f^{\vec{v}} \cdot \nabla \vec{v} \right\} dV$$

$$= \int \underbrace{\left\{ \frac{\partial f}{\partial t} + \nabla \cdot (t^{\vec{v}}) \right\} + f^{\vec{v}} \cdot \nabla \vec{v} \end{bmatrix} dV$$

$$= \int \underbrace{\left\{ \frac{\partial f}{\partial t} + \nabla \cdot (t^{\vec{v}}) \right\} + f^{\vec{v}} \cdot \nabla \vec{v} \end{bmatrix} dV$$

$$= \int \underbrace{\left\{ \frac{\partial f}{\partial t} + \nabla \cdot (t^{\vec{v}}) \right\} + f^{\vec{v}} \cdot \nabla \vec{v} \end{bmatrix} dV$$

$$= \int \underbrace{\left\{ \frac{\partial f}{\partial t} + \nabla \cdot (t^{\vec{v}}) \right\} + f^{\vec{v}} \cdot \nabla \vec{v} \end{bmatrix} dV$$

$$= \int \underbrace{\left\{ \frac{\partial f}{\partial t} + \nabla \cdot (t^{\vec{v}}) \right\} + f^{\vec{v}} \cdot \nabla \vec{v} \end{bmatrix} dV = \int \underbrace{\left\{ \frac{\partial v}{\partial t} + v \cdot \nabla \vec{v} \right\} + f^{\vec{v}} \cdot \nabla \vec{v} \end{bmatrix} dV$$

$$= \int \underbrace{\left\{ \frac{\partial v}{\partial t} + v \cdot \nabla \vec{v} \right\} + v \cdot \nabla \vec{v} \end{bmatrix} dV = \int \underbrace{\left\{ \frac{\partial v}{\partial t} + v \cdot \nabla \vec{v} \right\} + v \cdot \nabla \vec{v} \end{bmatrix} dV$$

$$\int S \frac{D\tilde{v}}{Dt} dV = \int P\tilde{b} dV + \int \tilde{T} dS \implies \int S \left(\frac{D\tilde{v}}{Dt} - \tilde{b} \right) dV = \int \tilde{T} dS$$

$$V = \int \tilde{T} dS$$

$$V = \int \tilde{V} dV = \int \tilde{T} dS$$

$$V = \int \tilde{V} dV = \int \tilde{T} dS$$

$$V = \int \tilde{V} dV = \int \tilde{T} dV = \int$$



 $+\left(-\tilde{T}_{(1)}^{*}\right)\Delta OCB\left(\Delta ATSC\right)^{n_{1}}$ S(DT-b) th DABC $+\left(-\vec{T}_{(2)}^{*}\right)\Delta \delta \vec{A}^{(1)}\left(\Delta ABC\right)^{n_{2}}$ $+\left(-\vec{T}_{(3)}^{*}\right)\Delta \delta \vec{A}^{(2)}\left(\Delta ABC\right)^{n_{3}}$ $0 = \vec{T}_{(n)} - \vec{T}_{(1)} - \vec{T}_{(2)} - \vec{T}_{(3)} -$ Take h⇒0

 $0 = T_{(n)} - (1) \qquad (2)$ $(1) \qquad (2)$ $(2) \qquad (2)$ $(2) \qquad (2)$ $(2) \qquad (2)$ $(2) \qquad (2)$ $(3) \qquad (3)$ $(1) \qquad (1) \qquad (2)$ $(2) \qquad (2)$ $(3) \qquad (3)$ $(1) \qquad (1) \qquad (2)$ $(3) \qquad (3)$ $(1) \qquad (4) \qquad (2)$ $(2) \qquad (2)$ $(3) \qquad (3)$ $(3) \qquad (4)$ $(1) \qquad (4) \qquad (2)$ $(3) \qquad (3)$ $(4) \qquad (4) \qquad (4)$ $(5) \qquad (4) \qquad (4)$ $(1) \qquad (4) \qquad (4)$ $(1) \qquad (2) \qquad (4)$ $(1) \qquad (4) \qquad (4)$ $(2) \qquad (4) \qquad (4)$ $(3) \qquad (4) \qquad (4)$ $(5) \qquad (5) \qquad (5) \qquad (4)$ $(5) \qquad (5) \qquad (5) \qquad (5)$ $(5) \qquad (5) \qquad (5) \qquad (5) \qquad (5)$ $(5) \qquad (5) \qquad (5) \qquad (5) \qquad (5) \qquad (5)$ $(5) \qquad (5) \qquad (5$

 $\vec{T}_{(1)} = \vec{T}_{(1)}n_1 + \vec{T}_{(2)}n_2 + \vec{T}_{(3)}n_3$ $(T_{(n)}) = T_{(n)} n_1 + T_{(2)} n_2 + T_{(3)} n_3$ $E_{12} = E_{12}n_1 + E_{22}n_2 + E_{32}n_3$ $T_{en3} = T_{en3}n_1 + T_{(2)3}n_2 + T_{(3)3}n_3$ $I_{(n)} = T_1 n_1 + T_2 n_2 + T_3 n_3$ $T_{m_2} = \sigma_{n_1} + \sigma_{22} + \sigma_{32} + \sigma_{32} + \sigma_{12} +$ $T_{i} = J_{i}$ $T_{13} = T_{13}n_1 + T_{23}n_2 + T_{33}n_3$ $\rightarrow \int_{\Xi} \Xi \int_{U} \rightarrow Znd \text{ order forsor}$ tensor



STRESS ... CONTD.

$$\vec{T} = \vec{p} \cdot \hat{n} = \vec{p} \cdot \hat{n}$$

La both balance of linear momentum

Getting back to the balance of linear momentum eqn:

$$\int g\left(\frac{D\hat{v}}{Dt} - \hat{b}\right) dV = \int \vec{T} dS = \int \vec{O} \cdot \hat{n} dS$$

$$\int g\left(\frac{D\hat{v}}{Dt} - \hat{b}\right) dV = \int \nabla \cdot \vec{O} dV \Rightarrow \int \left[g\left(\frac{D\hat{v}}{Dt} - \hat{b}\right) - \nabla \cdot \vec{O}\right] dV = 0$$

$$\Rightarrow \int \int g\left(\frac{D\hat{v}}{Dt} - \hat{b}\right) dV = \int \nabla \cdot \vec{O} dV \Rightarrow \int_{V} \left[g\left(\frac{D\hat{v}}{Dt} - \hat{b}\right) - \nabla \cdot \vec{O}\right] dV = 0$$

$$(V_{arg}) Grams divergence theorem)$$

$$\int \left[g\left(\frac{D\vec{v}}{Dt} - \vec{b}\right) - \nabla \cdot \vec{d} \right] dV = 0$$

Because this must be true for any arbitrary volume,
we must have:
$$g\left(\frac{D\vec{v}}{Dt} - \vec{b}\right) - \nabla \cdot \vec{d} = 0$$

$$g\left(\frac{D\vec{v}}{Dt} - \vec{b}\right) = \nabla \cdot \vec{d} + g\vec{b}$$
 (anch/s eqn of motion
$$g\left(\frac{D\vec{v}}{Dt} = \nabla \cdot \vec{d} + g\vec{b}\right) + g\left(\frac{D\vec{v}}{Dt} = 0\right)$$

for static equilibrium : $g\frac{D\vec{v}}{Dt} = 0$
$$\cdot \nabla \cdot \vec{d} + g\vec{b} = 0$$

STRESS ... CONTD. Normal and Shear Components of Traction $T^{N} = \hat{T} \cdot \hat{n}$ Ly Normal component of T $T^{N} = T \cdot n$ $= \left(\begin{array}{c} c \\ c \\ c \\ c \end{array}^{\mathsf{T}}, \begin{array}{c} \hat{n} \end{array} \right) \cdot \begin{array}{c} \hat{n} \\ \hat{n} \end{array}$ $J^{S} = J^{A} e_{S}$ $T^{N} = \begin{bmatrix} \hat{f} & \hat{n} \end{bmatrix}$ $e \leftrightarrow \{\vec{r}, \vec{n}\}$ $= \begin{bmatrix} T \end{bmatrix} \begin{bmatrix} \hat{r} \end{bmatrix}$ $= \begin{bmatrix} \mathbf{p}^{\mathsf{T}} \cdot \hat{\mathbf{n}} \end{bmatrix} \begin{bmatrix} \hat{\mathbf{n}} \\ \hat{\mathbf{n}} \end{bmatrix}$ (n)

 $\mathcal{T}^{\mathsf{M}} = \left(\underbrace{\mathcal{G}}^{\mathsf{T}}, \widehat{\mathcal{N}} \right), \widehat{\mathcal{N}} \equiv \left[\widehat{\mathcal{N}} \right] \left[\underbrace{\mathcal{G}}^{\mathsf{T}} \right] \left[\widehat{\mathcal{N}} \right]$





For indepice
$$T_{12}$$
:
 $\hat{n} \equiv \hat{e}_1 \equiv \begin{bmatrix} 1 \\ 0 \\ 0 \end{bmatrix}$
 $\hat{e}_2 \equiv \hat{e}_2 \equiv \begin{bmatrix} 0 \\ 1 \\ 0 \end{bmatrix}$
 $T^T \equiv [\hat{n}]^T \begin{bmatrix} 0 \\ 0 \end{bmatrix} [\hat{e}_2]$
 $= [\hat{e}_1]^T \begin{bmatrix} 0 \\ 0 \end{bmatrix} [\hat{e}_2]$
 $\equiv T_{12}$



Principal Stresses $\hat{n} = n_1\hat{\ell}_1 + n_2\hat{\ell}_2 + n_3\hat{\ell}_3$ For TN to be maximum, we muthave FII Â $\vec{T} = T^{N} \hat{n} = \sigma \hat{n}$ $\overrightarrow{T} = (T^{N} n_{1}) \widehat{e}_{1} + (T^{N} n_{2}) \widehat{e}_{2} + (T^{N} n_{3}) \widehat{e}_{3}$ $T_{i} = T_{i} \wedge_{i} - (\#_{i})$ $T_2 = J n_2 - (\#_2)$ $T_3 = \sigma n_3 - (\#_3)$

However,
$$\vec{T} = \vec{p} \cdot \hat{n}$$

 $T_{1} = \sigma_{11} n_{1} + \sigma_{12} n_{2} + \sigma_{13} n_{3} - (*_{1})$
 $T_{2} = \sigma_{12} n_{1} + \sigma_{22} n_{2} + \sigma_{23} n_{3} - (*_{2})$
 $T_{2} = \sigma_{12} n_{1} + \sigma_{23} n_{2} + \sigma_{33} n_{3} - (*_{3})$
 $T_{3} = \sigma_{13} n_{1} + \sigma_{23} n_{2} + \sigma_{33} n_{3} - (*_{3})$
 $(*) - (#)$
 $\delta = (\sigma_{11} - \sigma_{1}) n_{1} + \sigma_{12} n_{2} + \sigma_{13} n_{3}$
 $\delta = (\sigma_{12} n_{1} + (\sigma_{22} - \sigma_{1}) n_{2} + \sigma_{23} n_{3})$
 $\delta = \sigma_{12} n_{1} + \sigma_{23} n_{2} + (\sigma_{33} - \sigma_{1}) n_{3}$

 $\begin{bmatrix} \sigma_{11} - \sigma & \sigma_{12} & \sigma_{13} & n_1 \\ \sigma_{12} & \sigma_{22} - \sigma & \sigma_{23} & n_2 \\ \sigma_{12} & \sigma_{22} - \sigma & \sigma_{23} & \sigma_{23} & \sigma_{23} \end{bmatrix} \begin{bmatrix} n_1 \\ n_2 \\ n_2 \\ n_3 \end{bmatrix} = \begin{bmatrix} \sigma \\ \sigma \\ \sigma_{13} \end{bmatrix} \begin{bmatrix} \sigma_{13} & \sigma_{13} \\ \sigma_{13} \end{bmatrix} \begin{bmatrix} \sigma_{13} \\ \sigma_{13$

For non-trivial solutions $\begin{vmatrix} \sigma_{11} - \sigma & \sigma_{12} & \sigma_{13} \\ \sigma_{12} & \sigma_{22} - \sigma & \sigma_{23} \\ \end{vmatrix} = 0$ $\begin{vmatrix} \sigma_{12} & \sigma_{22} - \sigma & \sigma_{23} \\ \sigma_{12} & \sigma_{23} & \sigma_{33} - \sigma \\ \end{vmatrix}$

 $= \frac{1}{2}\sigma - \frac{1}{2}\sigma - \frac{1}{3} = 0$ where $I_1 = \sigma_{11} + \sigma_{22} + \sigma_{33}$ I, I, I, I, and stress invariants

Principal Stresses ... contd.

Fact 1: Eigenvalues of a real, symmetric matrix must be real. Since the stress components are real, and the stress matrix is symmetric, therefore the principal stresses must be real.

Fact 2: Eigenvectors corresponding to distinct eigenvalues must be perpendicular to each other. So, if the values of the principal stresses are distinct, then the principal directions are perpendicular to each other.

State of stress referred to principal directions



Stress ... contd.

Octahedral Stress

We first consider a situation where the coordinate axes are oriented along the principal directions.

principal directions. Octobed plane Consider a plane which is equally inclined to the coordinate axes (or, equivalently to the principal directions).

$$\hat{n} = n_1 \hat{e}_1 + n_2 \hat{e}_2 + n_3 \hat{e}_3$$

$$|n_1| = |n_2| = |n_3| \quad \text{But} \quad n_1 + n_2 + n_3 =$$

$$|n_1| = |n_2| = |n_3| = |n_3| = \frac{1}{\sqrt{3}}$$

Octahedral Normal Stress $\mathsf{T}^{\mathsf{N}} = \left[\hat{n} \right]^{\mathsf{T}} \left[\begin{array}{c} \mathbf{J} \\ \mathbf{J} \end{array} \right] \left[\hat{n} \right]$ $= \begin{bmatrix} n_1 & n_2 & n_3 \end{bmatrix} \begin{bmatrix} \sigma^{(1)} & 0 & 0 \\ \sigma^{(2)} & 0 & n_2 \end{bmatrix} \begin{bmatrix} n_1 \\ n_2 \\ 0 & \sigma^{(2)} \end{bmatrix} \begin{bmatrix} n_3 \\ n_3 \end{bmatrix}$ $= \sigma^{(1)} n_{1}^{\prime} + \sigma^{(2)} n_{2}^{\prime} + \sigma^{(3)} n_{3}^{\prime}$ $= \frac{1}{3} \left(\sigma^{(1)} + \sigma^{(2)} + \sigma^{(3)} \right)^{\prime} \left(\cdot \cdot |n_{1}| = |n_{2}| = |n_{3}| = \frac{1}{\sqrt{3}} \right)^{\prime}$ = - II -> Extremely important

Octahedroal Shears Stress $\left(T^{S}\right)^{\gamma} = \left|\overrightarrow{T}\right|^{\gamma} - \left(T^{H}\right)^{\gamma}$ $\begin{bmatrix} \vec{r} \end{bmatrix} = \begin{bmatrix} \vec{\sigma}^{T} \cdot \hat{n} \\ \vec{r} \end{bmatrix} = \begin{bmatrix} \vec{\sigma}^{T} \cdot \vec{r} \end{bmatrix} = \begin{bmatrix}$ $= \begin{bmatrix} \sigma^{(1)} & n_1 \end{bmatrix}$ $= \begin{bmatrix} \sigma^{(2)} & n_2 \end{bmatrix}$ $\begin{bmatrix} \sigma^{(3)} & n_3 \end{bmatrix}$ $T_1 = \sigma^{(1)}n_1$, $T_2 = \sigma^{(2)}n_2$, $T_3 = \sigma^{(3)}n_3$

 $\left(T^{5}\right) = \left|\vec{T}\right|^{2} - \left(T^{N}\right)^{2}$ $= T_{1}^{2} + T_{2}^{2} + T_{3}^{2} - \int \frac{1}{3} (\sigma^{(1)} + \sigma^{(2)} + \sigma^{(3)}) \int \frac{1}{3} (\sigma^{(1)} + \sigma^{(3)} + \sigma^{(3)}) \int \frac{1}$ $= \left(\sigma^{(n)} n_{1} \right)^{\nu} + \left(\sigma^{(n)} n_{2} \right)^{\nu} + \left(\sigma^{(3)} n_{3} \right)^{\nu} - \frac{1}{9} \left(\sigma^{(1)} + \sigma^{(2)} + \sigma^{(3)} \right)^{\nu}$ $=\frac{1}{3}\left[\left(\sigma^{(\nu)}\right)^{\nu}+\left(\sigma^{(\nu)}\right)^{\nu}+\left(\sigma^{(3)}\right)^{\nu}\right]^{\nu}-\frac{1}{9}\left(\sigma^{(1)}+\sigma^{(2)}+\sigma^{(3)}\right)^{\nu}$ $= \frac{1}{9} \left[3(\sigma^{(1)})^{2} + 3(\sigma^{(2)})^{2} + 3(\sigma^{(3)})^{2} - (\sigma^{(1)})^{2} - (\sigma^{(1)})^{2$

$$(T^{s})^{n} = \frac{1}{9} \left[2 P_{1}^{r} - 6 I_{2} \right]$$

$$|T^{s}| = \frac{\sqrt{2}}{3} \left(T_{1}^{r} - 3 T_{2} \right)^{2}$$

$$3 T_{s}^{r} = \frac{\sqrt{2}}{3} \left(T_{1}^{r} - 3 T_{2} \right)^{2}$$

$$3 T_{s}^{r} = \frac{\sqrt{2}}{3} \left(T_{1}^{r} - 3 T_{2} \right)^{2}$$

$$3 T_{s}^{r} = \frac{\sqrt{2}}{3} \left(T_{1}^{r} - 3 T_{2} \right)^{2}$$

$$3 T_{s}^{r} = \frac{\sqrt{2}}{3} \left(T_{1}^{r} - 3 T_{2} \right)^{2}$$

$$3 T_{s}^{r} = \frac{\sqrt{2}}{3} \left(T_{1}^{r} - 3 T_{2} \right)^{2}$$

$$3 T_{s}^{r} = \frac{\sqrt{2}}{3} \left(T_{1}^{r} - 3 T_{2} \right)^{2}$$

$$3 T_{s}^{r} = \frac{\sqrt{2}}{3} \left(T_{1}^{r} - 3 T_{2} \right)^{2}$$

$$3 T_{s}^{r} = \frac{\sqrt{2}}{3} \left(T_{1}^{r} - 3 T_{2} \right)^{2}$$

$$3 T_{s}^{r} = \frac{\sqrt{2}}{3} \left(T_{1}^{r} - 3 T_{2} \right)^{2}$$

$$3 T_{s}^{r} = \frac{\sqrt{2}}{3} \left(T_{1}^{r} - 3 T_{2} \right)^{2}$$

$$3 T_{s}^{r} = \frac{\sqrt{2}}{3} \left(T_{1}^{r} - 3 T_{2} \right)^{2}$$

$$3 T_{s}^{r} = \frac{\sqrt{2}}{3} \left(T_{1}^{r} - 3 T_{2} \right)^{2}$$

$$3 T_{s}^{r} = \frac{\sqrt{2}}{3} \left(T_{1}^{r} - 3 T_{2} \right)^{2}$$

$$3 T_{s}^{r} = \frac{\sqrt{2}}{3} \left(T_{1}^{r} - 3 T_{2} \right)^{2}$$

$$3 T_{s}^{r} = \frac{\sqrt{2}}{3} \left(T_{1}^{r} - 3 T_{2} \right)^{2}$$

$$3 T_{s}^{r} = \frac{\sqrt{2}}{3} \left(T_{1}^{r} - 3 T_{2} \right)^{2}$$

$$3 T_{s}^{r} = \frac{\sqrt{2}}{3} \left(T_{1}^{r} - 3 T_{2} \right)^{2}$$

$$3 T_{s}^{r} = \frac{\sqrt{2}}{3} \left(T_{1}^{r} - 3 T_{2} \right)^{2}$$

$$3 T_{s}^{r} = \frac{\sqrt{2}}{3} \left(T_{1}^{r} - 3 T_{2} \right)^{2}$$

$$3 T_{s}^{r} = \frac{\sqrt{2}}{3} \left(T_{1}^{r} - 3 T_{2} \right)^{2}$$

$$3 T_{s}^{r} = \frac{\sqrt{2}}{3} \left(T_{1}^{r} - 3 T_{2} \right)^{2}$$

$$3 T_{s}^{r} = \frac{\sqrt{2}}{3} \left(T_{1}^{r} - 3 T_{2} \right)^{2}$$

$$3 T_{s}^{r} = \frac{\sqrt{2}}{3} \left(T_{1}^{r} - 3 T_{2} \right)^{2}$$

$$3 T_{s}^{r} = \frac{\sqrt{2}}{3} \left(T_{1}^{r} - 3 T_{2} \right)^{2}$$

$$3 T_{s}^{r} = \frac{\sqrt{2}}{3} \left(T_{1}^{r} - 3 T_{2} \right)^{2}$$

$$3 T_{s}^{r} = \frac{\sqrt{2}}{3} \left(T_{1}^{r} - 3 T_{2} \right)^{2}$$

$$3 T_{s}^{r} = \frac{\sqrt{2}}{3} \left(T_{1}^{r} - 3 T_{2} \right)^{2}$$

$$3 T_{s}^{r} = \frac{\sqrt{2}}{3} \left(T_{1}^{r} - 3 T_{2} \right)^{2}$$

$$3 T_{s}^{r} = \frac{\sqrt{2}}{3} \left(T_{1}^{r} - 3 T_{2} \right)^{2}$$

$$3 T_{s}^{r} = \frac{\sqrt{2}}{3} \left(T_{1}^{r} - 3 T_{2} \right)^{2}$$

$$3 T_{s}^{r} = \frac{\sqrt{2}}{3} \left(T_{1}^{r} - 3 T_{2} \right)^{2}$$

$$3 T_{s}^{r} = \frac{\sqrt{2}}{3} \left(T_{1}^{r} - 3 T_{2} \right)^{2}$$

$$3 T_{s}^{r} = \frac{\sqrt{2}}{3} \left(T_{1}^{r} - 3 T_{2$$



